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e _}NEMO3 expected .perfor,"ances
. inSyears of data aKxin,

Efﬁciency (BB0V) inf2.8-3.2] MeV 14 %
External background: 0 event

For 7kg of 100M0(Q 5= 3. 038 MeV)

Internal Background: 208T] <14 events
214Bj <14 events

BR(2v) 3.9 events
< 6.7 background events expected in 5 years

5 BV events excluded

T,, >5. 10y —> <m,> <0.2-0.7eV

 For1kgof#Se (Qy=2.995 MeV)

‘% Rejection of « hots spots »

< 0.15 background events expected in 5 years

v

2.5 B0V events excluded

Ty, >1.5 10%y —> <m,> <0.6-1.2eV
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Design NEMO3: -
208 T1 in source foils < 0.02 mBg/kg

10ke 214Bj in source foils < 0.3 mBq/kg
neutron flux < 108 ncm?s?!
Sensitivity NEMO3:

— 208 1 in kource foils

measured by ' channel ey’s (Ey=2.6 MeV)
or 212 Bi — 212 Po e(y)a (300 ns)

< 2 uBg/kg after 1 year of data

= 214 Bi in source foils

measured by channel ey o |
(214 Bi — 214 Po— 210Pb; T,,, = 164 us )

<2 ;,LBq/kg after 1 year of data

=> neutrons measured by e crossing >4 MeV
< 10'9 n‘cm"‘2 s L |

II- Sen51t1V1ty to 100 kg of 1s0t0pes_t |
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= NEMO3 starts running with several nuclei:
(190Mo, SZSe, 150Nd, llécd, 130T, 48Ca, 97r) |
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. ifa SIgnal in 50 g of 150Nd and
- no signal in 7 kg of 1Mo or 1 kg #Se ? " = J

=""—. if asignalin2B0v 0*—1* ?
PR e - ]

= NEMO3 phase 2

10 kg 32Se: experiment « zero background » __ L
1 kg **Nd: = 1/7 detector, 3 sectors replaced T

D.O.E. starts purification for 32Se and 1°°Nd |
(with INEEL ; Idaho Falls)
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Next generation of expe

10 kg — 100 kg (100 % enrich.) ...and not 1 ton !

=> Europe has to help development on
enrichment technics in Russia

= Sources purification (**Bi and 208T]):

— 10 kg: good results obtained for NEMO3
(IOOMO, 48 Ca, 116Cd, 150Nd, 9621-, natTe)

—> 100 kg: sensitivity of NEMO3 will validate
100 kg in one year

‘= development must be done in Ge detector

to increase the sensitivity by a faé_tor 100
(or at least by a factor 10)

NEMO3: Ge in LSM: 2#T] < 100 uBg/kg
100 kg as we need: 28Tl < 1 uBg/kg
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tmprove . |

How to inerease AE/]

= calorimeter: Silicium (e’) + small scintillator (y) ?

— qctive source:

||

e=10umx35

= R&D and ideas...

Which nucleus do we have to choose?

In some calculations, 100 kg Al =1 ton A2 !!!!

| |

“ .

Efforts on Nuclear Matrix calculations for 100 kg
| have to be done
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